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Share these amounts of compost equally.

(a) 22-4kg among 7 pots
(b) 31-2kg among 4 pots
(¢) 592kg among 8 pots
(d) 48 kg among 5 pots.

Find the amount of fertilizer for one tree.

(a) 25-8 litres for 6 oak trees (b) 33-3 litres for 9 pine trees
() 53-7 litres for 3 elm trees (d) 86°I litres for 7 ash trees.

Find the cost of one of each item.

@ () %
5 flowerpots 2 sets of windchimes
cost £8-65 cost £9-38
(o)
9 candles
3 gnomes 6 plants ;
o Tl cost £5:22 cost £4-32 |

Which is cheaper, a chair
or a stool?
Explain.




